“Свойства предельных одноатомных спиртов”

Вариант 1


Напишите уравнения химических реакций:
а).  СН3 ( СН2 ( СН2 ( СН2ОН + О2 (  ;
б).  СН3 ( СН2 ( СН2 ( СН2ОН + Na ( ;
в).  СН3 ( СН2 ( СН2 (  СН2ОН + НВr (  ;
г).  С3Н7ОН + С3Н7ОН  (  ;
д).  С4Н9ОН + СН3ОН  ( ;
е).  С4Н9ОН  t ((   ;
ж).  СН3 ( СН2 ( СН2 ( СН2ОН + СuО  t (( .

Вариант 2


Напишите уравнения химических реакций:
а).  СН3 ( СН2 ( СН2ОН + О2  ( ;
б).  СН3 ( СН2 ( СН2ОН + НСI  ( ;
в).  СН3 ( СН2 ( СН2ОН + Na  ( ;
г).  СН3ОН + С3Н7ОН  ( ;
д).  С4Н9ОН + С4Н9ОН (  ;
е).  С3Н7ОН   t (( ;
ж).  СН3 ( СН2 ( СН2ОН + СuО  t ( (.
